

Periodic solutions for a boundary value problem of a third order ordinary differential equation

H. M. Ogbu

*Department of Industrial Mathematics and Applied Statistics,
Ebonyi State University, Abakaliki, Nigeria.*

Abstract

Existence results for some non-linear ordinary differential equations (1.1) – (1.2) have been very difficult to establish when it comes to computation of the apriori bounds. These difficulties were due to the nature of Lyapunov functions involved. In this paper, these difficulties have been avoided by the use of integrated equation as the mode of estimating the apriori bounds.

Keywords

Nonlinear ODE, Boundary value problems, Integrated equations, apriori bounds.

1.0 Introduction and formulation of Theorem 1.1

Consider the third order non-linear boundary value problem

$$\ddot{x} + f(\ddot{x}) + g(\ddot{x}) + h(x) = p(t) \tag{1.1}$$

with boundary conditions

$$D^{(r)}x(0) = D^{(r)}x(2\pi), \quad r = 0, 1, 2, \quad D = \frac{d}{dt} \tag{1.2}$$

where f, g, h and p are continuous functions depending on the arguments shown and p is 2π periodic in t . We note that equation (1.1) is the most general form of the constant coefficient equation.

$$\ddot{x} + a\ddot{x} + b\dot{x} + cx = p(t) \tag{1.3}$$

in which a, b, c , are constants and p is a continuous function and 2π periodic in t . It is well known that if the Routh-Hurwitz's conditions.

$$a > 0, \quad b > 0, \quad ab > c > 0 \tag{1.4}$$

hold, the roots of the auxiliary equation

$$\lambda^3 + a\lambda^2 + b\lambda + c = 0 \tag{1.5}$$

have negative real parts. Then existence of periodic solutions when p is also 2π periodic in t can be verified for (1.3), when (1.4) holds.

Extensions of equation (1.3) to its non-linear terms where a, b, c , are all not necessarily constants are available in the literature. For instance, Ezeilo [2] proved the existence of at least one harmonic oscillation for the equation

¹Corresponding author:

¹e-mail: ohilary2006@yahoo.com.

¹Telephone: 08066972013

$$\ddot{x} + a\ddot{x} + b\dot{x} + h(x) = p(t) \tag{1.6}$$

where h is continuous. A similar result has also been proved by Pliss [8] for the equation

$$\ddot{x} + a\ddot{x} + b\dot{x} + h(x) = p(t, x, \dot{x}, \ddot{x}) \tag{1.7}$$

in which $h(x)$ satisfies a slightly improved generalized Routh-Hurwitz's conditions and the forcing term p now depends on t, x, \dot{x}, \ddot{x} and it is bounded for all values of its arguments. Reissig, Sansone and Conti [9] proved an existence result for the equation

$$\ddot{x} + \varphi(\ddot{x}) + b\dot{x} + cx = p(t) \tag{1.8}$$

when $b > 0, c > 0, |p(t)| \leq m, m > 0$ for $t > 0$. Tejumola [11] proved the existence of periodic solutions for the equation

$$\ddot{x} + f(\dot{x})\ddot{x} + g(\dot{x}) + h(x) = p(t, x, \dot{x}, \ddot{x}) \tag{1.9}$$

in which f, g, h and p are continuous functions depending on the arguments shown. Very recently, Tejumola [13] proved existence of no nontrivial periodic solutions for the equation

$$\ddot{x} + h_1(\ddot{x}) + h_2(\dot{x}) + c_3x = p(t, x, \dot{x}, \ddot{x}) \tag{1.10}$$

Most of these results depended on the availability of a suitable boundedness result using the well-known Routh-Hurwitz's conditions. Further results on the extension of equation (1.3) to its non-linear terms are available in Ezeilo [2, 3, 4, 5, 6], Tejumola [11, 12] and still more can be found in Reissig, Sansone and Conti [9]. However, Villari [14] proved an existence result without the use of generalized Routh-Hurwitz's criteria for the equation.

$$\ddot{x} + \varphi(\ddot{x}) + b_1(\dot{x}) + c_1(x) - p(t), \quad b_1 < 0, c_1 > 0 \tag{1.11}$$

subject to the condition $\{\varphi(z_1) - \varphi(z_2)\}(z_1 - z_2) < 0$ for $z_1 \neq z_2$ where $z_1 = \dot{x}_1, z_2 = \dot{x}_2$ and used Halanay's approach in his proof. Ezeilo [4] proved the existence of periodic solutions for the equation (1.7) and has shown that the condition

$$0 < x^{-1}h(x) < ab, \quad |x| \geq \mathbf{R} \tag{1.12}$$

or other similar conditions are not absolute necessity for the existence of periodic solutions for equation (1.7). This can be seen clearly from the consideration of the linear equation

$$\ddot{x} + \ddot{x} + 4\dot{x} + 30x = \cos t$$

which has periodic solution, $850x = 29\cos t - 3\sin t$ but the corresponding a, b and h in (1.7) do not satisfy (1.12).

The objective of this paper is to give some other results in the "non-Routh Hurwitz's" direction. That is,

$$a > 0, b > 0, ab < c \tag{1.13}$$

or other similar conditions for equation (1.1). Hence, we propose a theorem whereby the "non-Routh Hurwitz's" conditions could be generalized to equation (1.1). By comparison of equation (1.1) with (1.3), we observe that equation (1.1) is equivalent to (1.3) if

$$\left. \begin{array}{l} f(\ddot{x}) \text{ is replaced by } a\ddot{x} \\ g(x) \text{ is replaced by } b\dot{x} \\ \text{and} \\ h(x) \text{ is replaced by } cx \end{array} \right\} \tag{1.14}$$

This may in turn suggest $\ddot{x}f(\ddot{x})$ and $h'(x)$ being replaced by $a\ddot{x}$ and c respectively. To be more precise, let us take the purely imaginary root

$$\lambda = i\beta, \beta > 0 \text{ if } a \neq 0 \text{ and } a^{-1}c \neq \beta^2 \tag{1.15}$$

(β an integer). Thus if P is 2π periodic in t , the linear differential equation (1.3) has indeed

2π periodic solutions if a, b, c are subject to condition (1.15). Thus we have the following in which the hypotheses have been suggested by equation (1.14).

Theorem 1.1:

Suppose in addition to the basic assumption on f, g, h and p , there exists constants $a > 0, c > 0$ and $\beta > 0$ such that the function $h(x)$ satisfies

$$h'(x) \leq c < a \quad \forall x \tag{1.16}$$

$$a - c > 0, a^{-1}c \neq \beta^2, a \neq 0 \tag{1.17}$$

$$zf(z) \leq az^2 + Bz \tag{1.18}$$

$$|h(x)| \rightarrow +\infty \text{ as } |x| \rightarrow \infty \tag{1.19}$$

The function p is bounded and 2π periodic in t . There is one 2π periodic solution in $L'[0, 2\pi]$ for arbitrary $g(y)$.

2.0 Notations

Throughout the proof, which follows, we denote finite capitals C_1, C_2, C_3, \dots which depend at most on f, g, h and p . The C_{ij} ($i = 0, 1, 2, \dots$) retain a fixed identity throughout the proof of theorem 1.1.

The symbols $|\cdot|_\infty, |\cdot|_1, |\cdot|_2$ with respect to the mappings: $[0, 2\pi] \rightarrow \square$ will have their usual meaning. That is for a given function $\theta: [0, 2\pi] \rightarrow \square$ say

$$|\theta|_\infty := \max_{0 \leq t \leq 2\pi} |\theta|, |\theta|_1 := \int_0^{2\pi} |\theta(s)| ds, |\theta|_2 := \left(\int_0^{2\pi} \theta^2(s) ds \right)^{\frac{1}{2}}$$

3.0 Proof of Theorem 1.1

The proof of theorem 1 shall be by the Leray-Schauder fixed point technique (see Leray and Schauder [7]) and instead of equation (1.1), we consider the parameter λ -dependent equation

$$\ddot{x} + f_\lambda(\ddot{x}) + \lambda g(\dot{x}) + h_\lambda(x) = \lambda p \tag{3.1}$$

where

$$f_\lambda(\ddot{x}) = (1 - \lambda)a\ddot{x} + \lambda f(\ddot{x}) \tag{3.2}$$

$$h_\lambda(x) = (1 - \lambda)cx + \lambda h(x) \tag{3.3}$$

The equation (3.1) can be written in matrix form by setting

$$\dot{x} = y, \dot{y} = z, \dot{z} = -f_\lambda(\ddot{x}) - \lambda g(\dot{x}) - h_\lambda(x) + \lambda p \tag{3.4}$$

and equation (3.4) can be written compactly in the form

$$\dot{X} = AX + \lambda F(X, t) \tag{3.5}$$

where

$$X = \begin{pmatrix} x \\ y \\ z \end{pmatrix}, A = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ -c & 0 & -a \end{pmatrix}, F = \begin{pmatrix} 0 \\ 0 \\ Q \end{pmatrix} \tag{3.6}$$

with $Q = p - h(x) + cx - g(\dot{x}) - f(\ddot{x}) + a\ddot{x}$

We remark that equation (3.1) reduces to a linear equation

$$\ddot{x} + a\ddot{x} + cx = 0 \tag{3.7}$$

when $\lambda = 0$ and to equation (1.1) when $\lambda = 1$.

The auxiliary equation to (3.7)

$$\lambda^3 + a\lambda^2 + c = 0 \quad (3.8)$$

has no purely imaginary root $\lambda = i\beta$, $\beta > 0$ if $a \neq 0$ and $a^1c \neq \beta^2$

Therefore the matrix $(e^{-2\pi A} - I)$ (I being identity 3×3 matrix) is invertible. Thus $X = X(t)$ is a 2π periodic solution of (3.5) if and only if X satisfies the equation

$$X = \lambda TX, \quad 0 \leq \lambda \leq 1 \quad (3.9)$$

where the transformation T is defined by

$$(TX)(t) = \int_t^{t+2\pi} (e^{-2\pi A} - I)^{-1} e^{A(t-s)} F(X(s), s) ds \quad (3.10)$$

Let S be the space of all real-valued continuous and 3-vector function $\bar{X}(t) = x(t), y(t), z(t)$ which are of period 2π and with norm $\|\bar{X}\|_s$ defined by

$$\|\bar{X}\|_s = \sup_{0 \leq t \leq 2\pi} \{|x(t)| + |y(t)| + |z(t)|\} \quad (3.11)$$

The definition of $(TX)(t)$ is the solution of the differentiated equation (3.5). Note that the matrices $(e^{-2\pi A} - I)^{-1}$ and $e^{A(t-s)}$ exist. Moreover $\|e^{A(t-s)}\|$ denotes the sum of absolute values of the elements of the matrix $e^{A(t-s)}$. Similarly $F(X, t)$ is continuous in X and t since f, g, h and p are continuous and is periodic in t with period 2π (by the periodicity of p). Since $(TX)(t) = \int_t^{t+2\pi A} (e^{-2\pi} - I)^{-1} e^{A(t-s)} + (X(s), s) ds$. Then a change of the variable $u = t - s$ in the integral equation yields

$$(TX)(t) = \int_0^{2\pi} (e^{-2\pi A} - I)^{-1} e^{Au} F(X(t-u), (t-u)) du \quad (3.12)$$

Also, let $x(t)$ be a possible 2π periodic solution of the equation (1.1). By this assumption $F(X(t-u), (t-u))$ is equation (3.12) is definitely 2π periodic in u because of its composition as given by Q in equation (3.6). The term p is 2π periodic in t , the other terms $h(x), cx, g(\dot{x}), f(\ddot{x})$ and $a\ddot{x}$ are all 2π periodic in t , by the assumption that $x(t)$ is a possible 2π periodic solution of equation (1.1). The 2π periodicity of $F(X(t), t)$ implies that $(TX)(t)$ is also 2π periodic in t . Thus $T : S \rightarrow S$.

Now $X(t) \in S$ and $X(t) = TX(t)$ implies that $X(t)$ is a 2π periodic solution of the differential equation $\dot{X} = AX + F(X, t)$. But

$$X(t) = \int_t^{t+2\pi} (e^{-2\pi A} - I)^{-1} e^{A(t-s)} F(X(s), s) ds$$

Differentiating both sides of the above integral equation with respect to t yields

$$\dot{X} = ((e^{2\pi A} - I)^{-1}) A \int_t^{t+2\pi} e^{A(t-s)} F(X(s), s) ds + (e^{-2\pi A} - I)^{-1} e^{-2\pi A} F(X(t+2\pi), t+2\pi)$$

$$\begin{aligned} & - (e^{-2\pi A} - I)^{-1} I \cdot F(X(t), t) \\ & = A \int_t^{t+2\pi} (e^{-2\pi A} - I)^{-1} e^{A(t-s)} F(X(s), s) ds + (e^{-2\pi A} - I) (e^{-2\pi A} - I) F(X(t), t) \\ & = AX + F(X(t), t) \end{aligned}$$

That is $\dot{X} = AX + F(X(t), t)$. Again, consider the parameter λ differential equation (3.1)

with the solution $X(t) = \lambda \int_t^{t+2\pi} (e^{-2\pi A} - I)^1 e^{A(t-s)} F(X(s), s) ds$ which by equation (3.10) is $X(t) = \lambda TX(t)$. Thus verifying the claim (3.9). It is therefore clear that the existence of a periodic solution of equation (3.5) for each $\lambda \in [0, 1]$ would correspond to the existence of $X \in s$ satisfying (3.9). Thus the existence of at least 2π periodic solution of equation (1.1) requires that there are constants C_6, C_3, C_9 independent of $\lambda \in [0, 1]$ such that any 2π periodic solution $X(t)$ of equation (3.1) satisfies

$$|x|_\infty \leq C_6, |\dot{x}|_\infty \leq C_3 \text{ and } |\ddot{x}|_\infty \leq C_9 \quad (3.13)$$

see Scheafer [10].

Let $x(t)$ be a possible 2π periodic solution of equation (3.1). The main tool to be used here in this verification is the function W defined by

$$W = \frac{1}{2} \dot{x}^2 + \lambda G(\dot{x}) + \dot{x} h_\lambda(x) \quad (3.14)$$

where $G(\dot{x}) = \int_0^{\dot{x}} g(s) ds$ and $h_\lambda(x) = (1 - \lambda)cx + \lambda h(x)$. The time derivative \dot{W} along the solution paths (3.4) is

$$\dot{W} = -\ddot{x} f_\lambda(\ddot{x}) + \dot{x}^2 h'_\lambda(x) + \lambda p \ddot{x} \quad (3.15)$$

Integrating (3.15) with respect to t from $t = 0$ to $t = 2\pi$, we have

$$W|_0^{2\pi} = \int_0^{2\pi} \ddot{x} f_\lambda(\ddot{x}) dt - \int_0^{2\pi} \dot{x}^2 h'_\lambda(x) dt + \int_0^{2\pi} \lambda p \ddot{x} dt$$

By equation (3.2), (3.3), and (1.16), we have

$$\begin{aligned} 0 &= -\int_0^{2\pi} (1 - \lambda) a \ddot{x}^2 dt - \int_0^{2\pi} \lambda f(\ddot{x}) \ddot{x} dt + \int_0^{2\pi} (1 - \lambda) c \dot{x}^2 dt + \int_0^{2\pi} c \dot{x}^2 dt + \int_0^{2\pi} \lambda p \ddot{x} dt \\ &= -\int_0^{2\pi} (1 - \lambda) a \ddot{x}^2 dt - \int_0^{2\pi} \lambda f(\ddot{x}) \ddot{x} dt + \int_0^{2\pi} c \dot{x}^2 dt + \int_0^{2\pi} \lambda p \ddot{x} dt \end{aligned}$$

By equation (1.18)

$$0 \leq -\int_0^{2\pi} (1 - \lambda) a \ddot{x}^2 dt - \int_0^{2\pi} \lambda a \ddot{x}^2 dt - \int_0^{2\pi} B \ddot{x} dt + \int_0^{2\pi} c \dot{x}^2 dt + \int_0^{2\pi} \lambda p \ddot{x} dt$$

Using the 2π periodicity of $x(t)$, then

$$0 \leq -\int_0^{2\pi} (1 - \lambda) a \ddot{x}^2 dt - \int_0^{2\pi} \lambda a \ddot{x}^2 dt + \int_0^{2\pi} c \dot{x}^2 dt + \int_0^{2\pi} \lambda p \ddot{x} dt$$

After due simplification, we have, $0 \leq -\int_0^{2\pi} a \ddot{x}^2 dt + \int_0^{2\pi} c \dot{x}^2 dt + \int_0^{2\pi} \lambda p \ddot{x} dt$

or
$$\int_0^{2\pi} a \ddot{x}^2 dt - \int_0^{2\pi} c \dot{x}^2 dt \leq \int_0^{2\pi} |p| |\ddot{x}| dt \quad (3.16)$$

$$\int_0^{2\pi} a \ddot{x}^2 dt - \int_0^{2\pi} c \dot{x}^2 dt \leq M \int_0^{2\pi} |\ddot{x}| dt$$

We have used the bounded of p and the fact that $0 \leq \lambda \leq 1$. By the Fourier series expansion of $x(t)$

$x(t) \approx a_0 + \sum_{r=1}^{\infty} (a_r \cos rt + b_r \sin rt)$ and the derivatives $\dot{x}(t)$ and $\ddot{x}(t)$, we got $\int_0^{2\pi} \ddot{x}^2 dt \geq \int_0^{2\pi} \dot{x}^2 dt$. Therefore by

(3.16), $(a - c) \int_0^{2\pi} \dot{x}^2 dt \leq M \int_0^{2\pi} |\ddot{x}| dt$. That is, $\int_0^{2\pi} \dot{x}^2 dt \leq c_1 \int_0^{2\pi} |\ddot{x}| dt$

$$\int_0^{2\pi} \ddot{x}^2 dt \leq c_1 (2\pi)^{\frac{1}{2}} \left(\int_0^{2\pi} \dot{x}^2 dt \right)^{\frac{1}{2}}$$

By Schwartz's inequality, therefore

$$\left(\int_0^{2\pi} \ddot{x}^2 dt\right)^{1/2} \leq c_1(2\pi)^{1/2} \equiv c_2 \quad (3.17)$$

Now since $x(0) = x(2\pi)$, there exists $\tau \in [0, 2\pi]$ such that $\dot{x}(\tau) = 0$. So that the identity

$$\dot{x}(t) = \dot{x}(\tau) + \int_{\tau}^t \ddot{x}(s) ds$$

Therefore

$$\begin{aligned} \max_{0 \leq t \leq 2\pi} |\dot{x}(t)| &\leq \int_0^{2\pi} |\ddot{x}(t)| dt \\ &\leq (2\pi)^{1/2} \left(\int_0^{2\pi} \ddot{x}^2 ds\right)^{1/2} \end{aligned}$$

By Schwartz's inequality. From (3.17) $|\dot{x}|_{\infty} \leq (2\pi)^{1/2} C_2 = C_3$ (3.18)

Now integrating equation (3.1) with respect to t from $t = 0$ to $t = 2\pi$

$$\int_0^{2\pi} \ddot{x} dt + \int_0^{2\pi} f_{\lambda}(\ddot{x}) dt + \int_0^{2\pi} \lambda g(\dot{x}) dt + \int_0^{2\pi} \lambda_{\lambda} dt = \int_0^{2\pi} \lambda p dt$$

By equation (1.2), we have $\int_0^{2\pi} f_{\lambda}(\ddot{x}) dt + \int_0^{2\pi} \lambda g(\dot{x}) dt + \int_0^{2\pi} h_{\lambda}(x) dt = \int_0^{2\pi} \lambda p dt$

By equation (3.2) and (3.3), the above equation yields

$$\int_0^{2\pi} C_5 \ddot{x} dt + \int_0^{2\pi} \lambda g(\dot{x}) dt + \int_0^{2\pi} a_3 x dt = \int_0^{2\pi} |\lambda| |p| dt$$

which yields

$$\int_0^{2\pi} (1-\lambda) a \ddot{x} dt + \int_0^{2\pi} \lambda f(\ddot{x}) dt + \int_0^{2\pi} \lambda g(\dot{x}) dt + \int_0^{2\pi} (1-\lambda) c x dt + \int_0^{2\pi} \lambda h(x) dt = \int_0^{2\pi} \lambda p dt$$

By (1.19), we have

$$\begin{aligned} \int_0^{2\pi} (1-\lambda) a \ddot{x} dt + \int_0^{2\pi} \lambda a \ddot{x} dt + \int_0^{2\pi} \lambda B dt + \int_0^{2\pi} \lambda g(\dot{x}) dt + \int_0^{2\pi} (1-\lambda) c x dt + \int_0^{2\pi} \lambda h(x) dt &\leq \int_0^{2\pi} |\lambda p| dt \text{ That is} \\ \int_0^{2\pi} \lambda h(x) dt + \int_0^{2\pi} (1-\lambda) c x dt &\leq \int_0^{2\pi} \{|\lambda p - \lambda g(\dot{x})|\} dt \end{aligned} \quad (3.19)$$

By (3.18) and the boundedness of p combined with the fact that $0 \leq \lambda \leq 1$ the right hand side of equation (3.19) is bounded, so that $\int_0^{2\pi} \{(1-\lambda)cx + \lambda h(x)\} dt \leq C_4$.

That is, $\left| \int_0^{2\pi} \lambda p - \lambda g(\dot{x}) dt \right| \leq C_4$ (3.20)

Which also implies that $\left| \int_0^{2\pi} (1-\lambda)cx dt + \int \lambda h(x) dt \right| \leq C_4$ (3.21)

But (3.21) implies

Given $\alpha > 0 \exists \beta > 0$ such that $|x| \geq \beta \Rightarrow |h(x)| > \alpha$ (3.22)

Then there exists $\tau \in [0, 2\pi]$ such that $|x(\tau)| \leq C_5$ (3.23)

Now if (i) $x(\tau) = 0$, then we are done.

Suppose NOT i.e. (ii) $x(\tau) \neq 0$ for any τ , then the left hand side (3.19)

$$\begin{aligned} \left| \int_0^{2\pi} (1-\lambda)c|x| dt + \int \lambda |h(x)| dt \right| &> \left| \int_0^{2\pi} (1-\lambda)c\beta dt + \int \lambda \alpha dt \right| \\ &> \int_0^{2\pi} 2\pi(1-\lambda)C\beta dt + 2\pi\lambda\alpha \end{aligned}$$

which implies that the left hand side of equation (3.19) is not bounded. This is a negation to the boundedness in equation (3.21). Therefore, equation (3.23) holds for $\tau \in [0, 2\pi]$. Thus, the identity

$x(t) = x(\tau) + \int_{\tau}^t \dot{x}(t)dx$ holds. That is

$$\begin{aligned} \max_{0 \leq t \leq 2\pi} |x(t)| &\leq |x(\tau)| + \int_0^{2\pi} \dot{x}(t)dt \\ &\leq C_5 + (2\pi)^{\frac{1}{2}} \left(\int_0^{2\pi} \dot{x}^2 dt \right)^{\frac{1}{2}} \end{aligned}$$

By Schwartz's inequality from (3.18), $\max_{0 \leq t \leq 2\pi} |x(t)| \leq C_5 + C_3 \equiv C_6$.

Thus $|x|_{\infty} \leq C_6$ (3.24)

It remains the third inequality (3.13) for the full realization of the proof of theorem 1.1. So consider equation (3.1) in the form $\ddot{x} + f_{\lambda}(\ddot{x}) = K$ (3.25)

with $K = \lambda p - \lambda g(\dot{x}) - h_{\lambda}(x)$

In view of (3.18) and (3.24) combined with the boundedness of p , we are assumed that the right hand side of (3.25) is bounded.

That is $K \leq C_7$ (3.26)

Now multiplying equation (3.25) by \ddot{x} and integrate with respect to t from $t = 0$ to $t = 2\pi$

$$\int_0^{2\pi} \ddot{x}^2 dt + \int_0^{2\pi} f_{\lambda}(\ddot{x})\ddot{x} = \int_0^{2\pi} K\ddot{x}dt \tag{3.27}$$

By equations (3.2), (1.19) and (1.2), we have after due simplification that (3.27) reduces to

$$\int_0^{2\pi} \ddot{x}^2 dt \leq |K| \int_0^{2\pi} |\ddot{x}| dt$$

That is

$$\begin{aligned} \int_0^{2\pi} \ddot{x}^2 dt &\leq C_7 \int_0^{2\pi} |\ddot{x}| dt \\ &\leq C_7 (2\pi)^{\frac{1}{2}} \left(\int_0^{2\pi} \ddot{x}^2 dt \right)^{\frac{1}{2}} \end{aligned}$$

By Schwartz's inequality. Therefore,

$$\int_0^{2\pi} \left(\ddot{x}^2 dt \right)^{\frac{1}{2}} \leq C_7 (2\pi)^{\frac{1}{2}} \equiv C_8 \tag{3.28}$$

Since $\dot{x}(0) = \dot{x}(2\pi)$ by (1.2) then there exists $\tau \in [0, 2\pi]$ such that $\ddot{x}(\tau) = 0$. The identity

$$\ddot{x}(t) = \ddot{x}(\tau) + \int_{\tau}^t \ddot{x}(s)ds$$

holds. Therefore

$$\begin{aligned} \max_{0 \leq t \leq 2\pi} |\ddot{x}(t)| &\leq \int_0^{2\pi} |\ddot{x}| dt \\ &\leq (2\pi)^{\frac{1}{2}} \left(\int_0^{2\pi} \ddot{x}^2 dt \right)^{\frac{1}{2}} \end{aligned}$$

By Schwartz's inequality. From (3.28), $\max_{0 \leq t \leq 2\pi} |\ddot{x}(t)| \leq (2\pi)^{\frac{1}{2}} C_8 \equiv C_9$

Thus

$$|\ddot{x}|_{\infty} \leq C_9 \quad (3.29)$$

4.0 Conclusion

Our estimates (3.18), (3.24), (3.29) verify equation (3.13) and the proof of theorem 1.1 follows, which implies existence of 2π periodic solutions for equation (1.1) subject to the boundary condition (1.2).

References

- [1] Ezeilo J. O. C. (1960), On existence of periodic solutions of a certain differential equation of the third order. Proc. Camb. Phi. Soc. 56, pp 381-387.
- [2] Ezeilo J. O. C. (1973), Periodic solutions of a certain third order differential equation, Atti. Accad. Naz. Linear. Land. CL. Sci. Fis. Mat. Natur 54, pp 34-41.
- [3] Ezeilo J. O. C. (1974), Periodic solutions of a certain third order differential equation, Atti. Accad. Naz. Linear. Land. CL. Sci. Fis. Mat. Natur 8, pp 54-60.
- [4] Ezeilo J. O. C. (1975), Further results on existence of periodic solutions of the equation $\square + b\square + h(x) = p(t, x, \square, \square)$, Proc. Camb. Phi. Soc. 27, pp 143-151.
- [5] Ezeilo J. O. C. (1978), Further results on existence of periodic solutions of the equation $a\square + \varphi(\square)\square + \varphi(x)\square + \theta(t, x, \square, \square) = p(t)$. Atti. Accad. Naz. Linear. Land. CL. Sci. Fis. Mat. Natur 6, pp 51-57
- [6] Ezeilo J. O. C. (1979), On existence of periodic solutions of a certain third order differential systems. Atti. Accad. Naz. Linear. Land. CL. Sci. Fis. Mat. Natur 66, pp 126-136.
- [7] Leray J. and Schauder J. (1934), Topologie et equations fonctionelles, Ann. Sci Ecole norm sup (3) 51, 45-78.
- [8] Pliss V. A. (1961), The existence of periodic solution of certain nonlinear system, Dokl. Akad. Nauk, SSSR III, pp 1178-1180.
- [9] Reissig R., Sansone G. and Conti R. (1974), Nonlinear differential equation of higher order, Noordhoff International Publishing, Leyden, pp 29-34.
- [10] Scheafer H. (1955), Uber de methode der a priori, Schranven, math, Ann. 129 pp 415-416.
- [11] Tejumola H. O. (1966), Ph.D Thesis, University of Ibadan, pp 30-35.
- [12] Tejumola H. O. (1969), On boundedness and periodicity of solutions of a certain third order nonlinear differential equations Ann. Pura. App. 83, 195-212.
- [13] Tejumola H. O. (2006), Periodic boundary value problems of some fifth, fourth, and third order ordinary differential equations. J. of Nigeria Math Soc. Vol. 25, pp 37-46.
- [14] Villari G. (1964), Criteri esistenza di soluzioni perioche per particolari classi di equazioni differenziali del ter'ordoni nonlinear mathemache catarria 19, pp 96-113.